HEZEBE BER—

2020 1HIRE

EER- % XY th & 1% = B & B Bl B E (e #EE RN ESED . & &
#%%%%aaﬁ%ﬁﬁf@%ff%#ﬁ%aaff%ff%alzalzfpzih?7ﬁ‘ﬂ%%?"%id\%%E@%?@Jﬁ%ﬂ&aiﬁﬁlfﬂﬁ[%ﬁaPﬁéﬁ|
HIZ|IS|S|A|BE(#|E(B|H B\ S|E| B8 BRI#H LTS5 |FEL A2 LSS |[B(H|ILCIE|®B|B|F|F| B FIE|C|K|E]|S
HNF|I|T|(F|B|A || RA|H| R ||| R|E2(R|D|F|B|! [B|B|IE|C|X|(F|F|IB(EBE|B|R|R|7|7| BEB|A|K|R|E|[H|F|S|FE|B|B|X|BH|O
BE|ZF|FI&£2|R|A|~|M|ZL|HH|&K|R|B|BR|D|~F|7|B|L|BR|Z(H(ZX|E£|B E|F|EK|[R[B|VIG|FEIB|IR|FZ|T|Z|T|X|D|R|[Z|X]|R
LT || 2[F]-|F]H® Tle|&(&E|&|T ||V HEIR AR E AN A B N A R S E A A Y UREAL EXRCA R R
BE|E|Z |~ |2 |5(£|%]|]|L EIEl~|~|[ZE] |77 X|R|IBE|EI~|E|V7|B|7|E|B ) ZIEIF| Y E IV AR EAL AR
TIEIEIZ|E|W|XE AT X|XZ|Z|B|~|>¥|V]|h FIZ|F[F|T|FE|V|S|IVIE|E ~ 21X|%| b BIE|B|(FE|IE|E
=B\ R[E|L|E % BRI Z AT | & E(E|E|E|O B | | B i 2 |} BX X|#| 8

o e 'HIE| & + RIR|BE|L| V| HIRIX[Em V&Y H < | £ R &
Bl ~ |~ | & H Bl (@ ~|~ EIE[E | Bl ~ ot = £ | R A Al &K
BRls | — | ~ & L |8 5|5 ¥ |1 x 215 i £ | & A z |8 |#
EIfH’|= N R Mk = ) |k & ) B & i £ FE
1% % | & | v £ = I Ly & B i A
1 2|7 BB & % | L B B
% %— Ll B
L
e
)|
2
Agelvr v frf2y 3ttt (3136312912004 1112141133125 (212 (12{1]|3| 71|11 |2]4[1]|1]?2
B E BB BAAEH =
W BT WET— 0 (70 B%) SEZACHEE h:) o
Elw o A T4 7 (REEEE) | T4V (RTULREEE)
S| E BER5 i (t <26) iR (t >25) iR (t <25) R (t >25)
8|S |53
11815
— g g) i IESH HEAHRE : omn HERIRE ¢ 19m HEAHRT : onn HEAIRT © 19m ke HERIRE ¢ 3 2m HEBIRE © 3mm
=l " CRREAEWEE 4 5~18m) | CERSEEWRE : 0 6ol E) | CESEEWER : 4.6~18m) | (sl : 0. mol k) | 0 PO | GReERam : 6 4mblT) | (REfEREGE : 6mblT)
wEls| 7| P AL & B 4. 5mm~18mm)
=& | A
B
g 4; 8 BT e A-2F | A-2V | A-2H| A-20 [ A-2P| A-3F | A-3V| A-3H| A-30 | A-3P | sA-2F| Sa-2v| sa-2H| SA-20| SA-2P| SA-3F| SA-3v| SA-3H| SA-30| SA-3P| MA-F [ MA-V | MA-H|T-1F {T-1V [T-1H |T-10 |T-1P |TN-F [TN-V [TN-H | TN-0 | TN-P
fir | 8| —
%3 5 BEES | Tw| @ || B k| T |z e | | AR Tm | Sz | g | E kS| T | Sz e | | A | T | ST | g T (e (e | (A T ST R | |k
| A
5 ELTE  |pY|pY|bY|ay|ay|avy|sy|sy|sy|sy|ay|ay|sy|sy|sylsy|sylaylay|sylsy|sy|sylaLlial|al|al|aLlBL|BL AL Bl |&L
Al 11110 r{fojojojoy3jzjojofojef1r{ojojo}js|4|14(0f0j2{2(0j107012|0(10(12{0f0] 0710




